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A=[01(x—x2)dx+[12(x2—x)dx=(12x2—-13x3)|01+(13x3-12x2)[12=
(12—-13)+(83-2)—(13-12)=1

Vi

A=[491xdx=[49x—12dx=2x12|49=6—-4=2
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A=[-14(4+3x—x2)dx=(4x+32x2-13x3)|-14=(16+24-643)—(-4+
32+13)=1256
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A=—[-10(3x2+x-2)dx=—(x3+12x2—-2x)|-10=—((0)—(-1+12+2))
=32
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A=[-11(1-x2)dx=(x-13x3)[-11=(1-13)—(-1+13)=43
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A=]01(1-x2)dx+[12(x2-1)dx=(1-x2)|01+(x2—1)|12=2
X jexally F(X)=3%2-3 10,8 Lizio oy 8 5am0ll dilnioll a>luo 321 (7)

3x2—-3=0=x2=1A=[-11(3-3x2)dx=(3x—x3)|-11=(3-1)—(-3+1)=
4

F(X)=x3-5x2=6X 1018V izio 1 8 9aall aslnioll &>luie 171 (8)
X3—=5x2—6Xx=0=2X(x2—5x—6)=0=X(x—6)(x+1)=0=x=0,x=6,x=—1A

=[—=10(x3—-5x2—6x)dx+[06(—x3+5x2+6x)dx=(14x4—-53x3—-3x2)|—
10+(—14x4+53x3+3x2)[06=(0)—(14+53-3)+(—324+360+108)—(0
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Jszally (f(X)=Xx2(2=X :0Lu8Y| Gizmio o 8500l dilnioll &>lus 221 (9)
X

X2(2—x)=0=x=0,x=2A=[02x2(2—x)dx=[02(2x2—-x3)dx=(23x3—-14
x4)|02=(163—-4)—(0)=43
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